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Database Management Systems
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Note: Answer any FIVE full questions, selecting atleast TWO questions from each part.

PART - A
I a. Explain the component modulus of DBMS and their interaction, with the help of a diagram.

b. Briefly discuss the advantages of DBMS over flat file systems.

2 a. With respect to ER model, explain with examples :

i) Cardinality Ratio ii) Participation constrainti.
b. Define an Attribute. Explain different types of attributes that occur in an ER diagram.

c. Design an ER diagram for keeping track of information about a hospital database taking into
account atleast entities. (08 Marks)

a. Consider the lollofuing schema :

BOATS (bid, bname , color)
RESERVES (Sid. bid, day) '

Specify the following queries in relational algebra.
i) Find the name of sailors who reserved green boat.
ii) Find the colour of the boat reserve by "Naresh".
iii) Find the name of the sailor who has reserved boat l.
iv) Find the sid of sailors with age over 20 who have not reserved a red boat. (08 Marks)

b. Explain the need ofprimary and-foreign t,rys- "vith -;-+irablcsxauples. (04 lt{arks)
c. Briefly discuss the different types of update operations on relational database. Show an

example of violation of the referential integrity in each of the update operation. (08 Marks)

a. Explain the following : i) SELECT statement ii) ALTER command
iii) Aggregate functions in SQL.

EMP (fname, 8name, Spir, bdate, address, sex, salary, superssn, dno)
DEPT (dname, dnumb'er; mgrssn, mgrstartdate)
DEPT_LOC (dnumber. dloc)
PROJECT (Pname, Pnumber, Ploc, dnum)
WORKS-ON (essn. pno, hours)
DEPENDENT:(essn. depen , sex)
Write the SQt qudries for the following :

D List female employees from dno : 20 earning more than 50000.
iD Find the name of employees who work on all projects controlled by department 5.

iii) Retrieve the names of such employees who are supervised by some other employer.
iv) List the name of all employees with atleast two dependents.
v) Select the name of employees whose 1't letter is R and 3'd letter is M.
vi) Retrieve the department name and average.
Salary of such departments which have an average salary of such department which have an
average salary more than 50000. Print the names of such departments in aspending order.

(12 Marks)' tof2
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PART-B ''' ''-

How are triggers and assertions defined in sqLt Explain with examples,

Explain the following with examples i .\',,.i'
O"'Ono=p.o*uni iD Dynamic SQL,g*$ Embedded SQL.

I
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(08 Marks)

(12 Marks)

8
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a. What is Functional dependency? Write dirt,,.[!'gorithm to find a mlriq3at' cover for a set of

function dependencies. ,U, * i'i--1: . . (10 Marks)

b. What is the need of normalization!=-p-ftfrn first and second no1-md1forms with examples'

- G,.'q ' ' (10 Marks){-
a. Explain Multivalued dependerre,;'gnd fourth normal formwitk'bn example' (10 Marks)

b. fxplain : 1 Inclusion depeil[tefriies ii) Template dppdndencies. (10 Marks)

a. Discuss the ACID praffid;of a'datab-ase transapttffP (04 Marks)

b. 'Descibe the three ptiffi of tne ARIES recoverfry.rBdel' $8 Marks)

;. ,rirn, ais.rrssrtge-6gutltase locking protoqol used in concurrency control. (0E Marks)
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